MG600-2 / MG600DT-2 TEMPLATE A

PLACE AGAINST HEADER

Q} (1/8") r’@ q}\ i _/q} @‘7 (/8" @

DRILL 3.2mm HOLE (18 DRILL 3.2mm HOLE
B B DRILL 10mm (3/8”) B DRILL 3.2mm HOLE B DRILL 10mm (3/8”)
HOLE FOR CABLE | HOLE FOR CABLE

- - = 4 -~ —
PLACE AGAINST DOOR
6mm(1/4") DIA. ARMATURE GUIDE PINS HOLE-12.5mm(1/2") DEEP | 6mm(1/4") DIA. ARMATURE GUIDE PINS HOLE-12.5mm(1/2") DEEP
" | .
S~ DRlLLqé/r;?n)HOLE A S~ DRlLngs/r:m?n)HOLE
|

STEP 1
® FOLD TEMPLATE ALONG HORIZONTAL DOTTED LINE.

® PLACE TEMPLATE AGAINST DOOR AND HEAD FRAME ENSURING VERTICAL DOTTED LINE "A" IS CENTERED BETWEEN DOORS.
® DRILL HOLES AS INDICATED ON TEMPLATE.

STEP 2
® MOUNT THE ARMATURE PLATE TO DOOR USING 1 RUBBER WASHER BETWEEN 2 STEEL WASHERS STEP 4

(THE RUBBER WASHER AND TWO STEEL WASHERS ARE INSTALLED ON THE HEX HEAD SCREW ® INSTALL MAGNET TO MOUNTING PLATE WITH 8 M4 SCREWS SUPPLIED.

BETWEEN THE ARMATURE PLATE AND DOOR). STEP 5

STEP 3 ® INSTALL ELECTRICAL WIRING PER INSTRUCTION SHEET.
® INSTALL THE MOUNTING PLATE WITH 2 FLAT HEAD SCREWS (THE 2 #10 x 5/8" (15.8MM) FLAT HEAD STEP 6

SCREWS ARE INSTALLED IN THE SLOTTED HOLES FOR ADJUSTMENT). ® TEST ALL FUNCTIONS OF THIS MODEL (SEE WIRING INSTRUCTION).
® ADJUST MOUNTING PLATE SO THAT IT FORMS A RIGHT ANGLE WITH THE ARMATURE PLATE. STEP 7 P

H B

® USING THE MOUNTING PLATE AS A TEMPLATE, DRILL THE WIRE HOLE. @ INSERT 4 ASSEMBLY LOCKING SCREWS IN MAGLOCK ASSEMBLY FACE. WY
® DRILL AND INSTALL THE REMAINING MOUNTING SCREWS STEP 8 ALLEGION

©Allegion 2019

LOCKNETICS. ® INSERT 4 ALUMINUM CAPS TO COVER THE 8 M4 SCREW HOLES. 47267239 Rev.02/19-a




| GABARIT MG600-2 / MG600DT-2 A

ALIGNER LA TETE DU CABRE

% PERCER UN TROU DE |—> @ $ $ @ = PERCER UN TROU DE %
3,2 MM (1/8 PO) \@RCER UN TROU DE B

3,2 MM (1/8 PO)
B PERCER UN TROU DE 3,2 MM (1/8 PO) PERCER UN TROU DE
10 MM (3/8 PO) _ 10 MM (3/8 PO) _
POUR PASSER LE CABLE | POUR PASSER LE CABLE

REPLIER LE LONG DE
- LA LIGNE _Pl_OINTILLEE e

DIAMETRE 6 MM (1/4 PO) TROU POUR TENON DE GUIDAGE ALIGNER CONTRE LA PORTE DIAMETRE 6 MM (1/4 PO) TROU POUR TENON DE GUIDAGE
DE L'ARMATURE 12,5 MM (1/2 PO) DE PROFONDEUR DE L'ARMATURE 12,5 MM (1/2 PO) DE PROFONDEUR

@ PERCER UN TROU DE @ @ PERCER UN TROU DE @

|
|
|
|
|
~~—— 16 MM (11/16 PO) A T~——16 MM (11/16 PO)
]

ETAPE 1

@® PLIER LE GABARIT LE LONG DE LA LIGNE POINTILLEE HORIZONTALE.
@ ALIGNER LE GABARIT CONTRE LA PORTE ET LA TETE DU CABRE EN VEILLANT A CE QUE LA LIGNE POINTILLEE VERTICALE « A » SOIT CENTREE ENTRE LES PORTES.
@® PERCER LES TROUS TELS QU'INDIQUES SUR LE GABARIT.

ETAPE 2 ETAPE 4

@ INSTALLER L'AIMANT SUR LA PLAQUE DE MONTAGE A L'AIDE DES HUIT VIS M6 FOURNIES.
@® FIXER LA PLAQUE D'ARMATURE SUR LA PORTE A L'AIDE D'UNE RONDELLE EN CAOUTCHOUC PLACEE ENTRE p
2 RONDELLES EN ACIER (LA RONDELLE EN CAOUTCHOUC ET LES DEUX RONDELLES EN ACIER DOIVENT ETRE ETAPE 5

POSEES SUR LA VIS A TETE HEXAGONALE ENTRE LA PLAQUE DARMATURE ET LA PORTE). ® INSTALLER LE CABLAGE ELECTRIQUE TEL QUINDIQUE SUR LE FEUILLET D'INSTRUCTIONS.

ETAPE 3 ETAPE 6
B e M AT T L R R RE R AT ® TESTER TOUTES LES FONGTIONS DE GE MODELE (VOR LES INSTRUGTIONS DE GABLAGE
® AJUSTER LA PLAQUE DE MONTAGE POUR FORMER UN ANGLE DROIT AVEC LA PLAQUE D'ARMATURE. ETAPE 7 .
@® EN UTILISANT LA PLAQUE DE MONTAGE COMME GUIDE, PERCER LE TROU POUR PASSER LE FIL. ¢ INSERER QUATRE VIS DE BLOCAGE SUR LA FACE AVANT DE LA SERRURE MAGNETIQUE.
@® PERCER LES TROUS ET INSTALLER LES VIS DE FIXATION RESTANTES. ETAPE 8 =.=
@® INSERER HUIT CAPUCHONS EN ALUMINIUM POUR COUVRIR LES HUIT TROUS L[ A

LOCKNETICS. DE VIS M6. ALLEGION




